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Instructions to candidates

1.	Answer the questions according to the following instructions.

Section One: Answer all questions on the separate Multiple-choice answer sheet provided. For each question, either place a cross over the correct answer or shade in the correct answer. Use only a blue or black pen. If you make a mistake, place a cross through that square, then select your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.

Sections Two and Three: Write your answers in this Question/Answer Booklet.

2.	You must be careful to confine your answers to the specific questions asked and to follow any instructions that are specific to a particular question.

3.	Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.











See next page
 



Section 1: Multiple-choice	24% (24 Marks)
This section has 24 questions. Answer all questions on the separate Multiple-choice answer sheet provided (see page 9). For each question, either place a cross over the correct answer or shade in the correct answer. Use only a blue or black pen to shade the boxes. If you make a mistake, place a cross through that square, then select your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.
Suggested working time: 30 minutes
______________________________________________________________________________

1. 	Which of the following is TRUE regarding markets?
I)	Economists define a market as a geographic location where trade occurs.
II)	A market enables buyers and sellers to get information about each other and to buy and sell from each other.
III)	Markets coordinate decisions through prices.
(a) 	I only
(b) 	I and III
(c) 	II and III
(d) 	I, II and III

2. 	In goods markets ________ and in factor markets ________.
(a) 	households sell to firms; firms sell to households
(b) 	firms sell to households; households sell to firms
(c) 	households sell to firms; households sell to firms
(d) 	firms sell to households; firms sell to households

3.	The demand for a product is negatively related to its price, ceteris paribus. What does ceteris paribus mean in this context?
(a) 	Factors affecting demand other than price are held constant.
(b) 	Factors affecting price other than demand are held constant.
(c) 	Price changes result from changes in demand.
(d) 	Price falls result in increased quantity demanded.

4.	The number of companies making shoes decreases. As a result, the equilibrium price of a pair of shoes _________ and the equilibrium quantity _________.
(a) 	rises; increases
(b) 	rises; decreases
(c) 	falls; increases
(d) 	falls; decreases


See next page
5.	What would be the effect on the market for Good X if there were a rise in the price of a substitute good?
(a) 	The demand curve would shift left and the equilibrium price of Good X would decrease.
(b) 	The supply curve would shift left and the equilibrium price of Good X would increase.
(c) 	The demand curve would shift right and the equilibrium price of Good X would increase.
(d) 	The supply curve would shift right and the equilibrium price of Good X would decrease.

6.	Which of the following would be most likely to lead to a decrease in the price of a good? 
(a) 	An increase in demand and a decrease in supply. 
(b) 	An increase in demand and an increase in supply.
(c) 	A decrease in demand and a decrease in supply. 
(d) 	A decrease in demand and an increase in supply.

7.	Which of the following is a reason for why the supply curve for a good such as coffee, slopes upwards?
(a) 	An increase in the demand for coffee will bring about an increase in supply.
(b) 	Farmers’ productivity rises as the price rises.
(c) 	Increased production leads to a reduction in costs.
(d) 	The cost of additional coffee production rises as output increases.
[image: ]World Oil Market

8.	It was reported that the world supply of oil would be affected by the discovery of new oil fields and the world demand for oil would be affected by rapid global economic growth. If point X is the initial equilibrium point, which point could represent the new equilibrium?
(a)	A
(b)	B
(c)	C
(d)	D



9.	The degree of price elasticity of demand is important to producers because it reveals how
(a) 	responsive quantity demanded is to a change in price.
(b) 	much of the product will be supplied at different prices.
(c) 	responsive demand for a product is to advertising or promotional campaigns.
(d) 	responsive quantity demanded is to a change in the level of consumer income.
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10.	The diagram opposite shows a decrease in the demand for oranges which shifts the demand curve from D1 to D2. The price elasticity of supply of oranges when the equilibrium price of oranges falls from $5 per kilo to $4 per kilo is$

(a) 	-0.8
(b) 	+0.8
(c) 	-1
(d) 	+1



11.	Which one of the following gives a positive value for the cross elasticity of demand?
(a) 	A fall in air fares increases the demand for holidays
(b) 	A fall in the cost of car insurance increases the demand for cars
(c) 	A rise in the price of petrol decreases the demand for cars
(d) 	A rise in rail fares increases the demand for coach travel

12.	A supermarket has estimated values of the income elasticity of demand for some of its products as shown in the table below. If incomes increase by 5%, for which of these grocery items will the quantity demanded increase by more than 1%?
         [image: ]
(a) 	Fruit
(b) 	Eggs
(c) 	Fruit and cheese
(d) 	Milk and eggs

13.	Over the last ten years the price elasticity of demand for tea in many countries has risen. What is the most likely cause of this change in price elasticity?
(a) 	a decrease in the incomes of consumers
(b) 	a decrease in the number of complements to tea
(c) 	an increase in the number of substitutes for tea
(d) 	an increase in the amount of tea supplied
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14.	The table shows the price Andrea is willing to pay for successive bottles of water.
	bottles of water
	1st
	2nd
	3rd
	4th

	price willing to pay
	$3.60
	$3.20
	$2.60
	$2.00


If the price is $2 and Andrea buys four bottles, what is the monetary value of Andrea’s consumer surplus?
(a) 	$0.60 
(b) 	$3.40 
(c) 	$3.60 
(d) 	$8.00

15.	Economic efficiency in a market occurs when
(a) 	consumer surplus is equal to producer surplus.
(b) 	total surplus is at a maximum.
(c) 	equity is maximised.
(d) 	consumer surplus is greater than producer surplus.
[image: ]
16.	The diagram opposite shows the Australian airline market. New entrants have come into the market, shifting supply from S1 to S2. Which area represents the new producer surplus?
(a) 	GMJ 
(b) 	HNF 
(c) 	HNK 
(d) 	KNTO



17.	People walking past a bakery often comment on the pleasure of smelling freshly baked bread. This is an example of a ___________________
(a) 	negative consumption externality
(b) 	negative production externality
(c) 	positive consumption externality
(d) 	positive production externality
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18.	What is an externality created by an individual consuming take-away food?
(a) 	the cost to the individual of purchasing the take-away food
(b) 	the litter created by the individual’s take-away food packaging being discarded
(c) 	the pleasure derived by the individual from eating the take-away food
(d) 	the time saved by the individual purchasing the take-away food

19.	Which of the following explains why the market system fails to produce public goods?
(a) 	Consumers can benefit from public goods without having to pay for them.
(b) 	Consumers prefer to buy private goods rather than public goods.
(c) 	Low income earners are disadvantaged because they cannot afford public goods.
(d) 	Government business enterprises produce public goods cheaper than private industry.

20.	A firm with market power is most likely to use that market power to 
(a) 	improve the allocation of resources. 
(b) 	charge higher prices than firms with little market power. 
(c) 	charge customers for its negative externalities in production. 
(d) 	increase the elasticity of its supply curve.

21.	Residents in a country town experience a significant slow-down in the speed of their internet service as a result of a large increase in usage from newly-connected households. The slower internet speed is most likely a result of 
(a) 	rivalry in consumption. 
(b) 	free riding. 
(c) 	non-excludability in usage. 
(d) 	the internet being a public good.
$

22.	The diagram opposite shows the market equilibrium both before and after an indirect tax is applied to a good. According to the diagram, the revenue the government collects from this tax is 
(a) 	$300 000 
(b) 	$200 000 
(c) 	$100 000 
(d) 	$80 000






See next page
23.	If the government sets an effective price floor for a good, how will this affect the producers and consumers of the good?
(a)	All producers will gain and consumers will gain.
(b)	All producers will gain and consumers will lose.
(c)	Some producers will gain, some producers will lose and consumers will gain.
(d)	Some producers will gain, some producers will lose and consumers will lose.

t
s

24.	The diagram opposite shows the market for coffee. The government imposes a tax on coffee, which causes the supply curve to shift to S2. Which areas in the diagram measure the resulting decrease in consumer surplus?
(a)	w  +  x  +  s
(b)	w  +  x  +  y
(c)	s  +  t
(d)	v  +  w







______________________________________________________________________________








End of Section One
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(Either place a cross over the correct answer or shade in the correct answer)


	1
	A
	B
	C
	D
	
	13 
	A
	B
	C
	D

	2
	A
	B
	C
	D
	
	14 
	A
	B
	C
	D

	3
	A
	B
	C
	D
	
	15 
	A
	B
	C
	D

	4
	A
	B
	C
	D
	
	16 
	A
	B
	C
	D

	5
	A
	B
	C
	D
	
	17
	A
	B
	C
	D

	6
	A
	B
	C
	D
	
	18
	A
	B
	C
	D

	7
	A
	B
	C
	D
	
	19
	A
	B
	C
	D

	8
	A
	B
	C
	D
	
	20
	A
	B
	C
	D

	9
	A
	B
	C
	D
	
	21
	A
	B
	C
	D

	10
	A
	B
	C
	D
	
	22
	A
	B
	C
	D

	11
	A
	B
	C
	D
	
	23
	A
	B
	C
	D

	12
	A
	B
	C
	D
	
	24
	A
	B
	C
	D
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Section Two: Data interpretation/Short answer	36% (36 Marks)

This section contains three (3) questions. Answer all questions. Write your answers in the
spaces provided.
Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number. 
Suggested working time: 70 minutes.
______________________________________________________________________________

Question 25	(12 marks)
This question refers to the extract below.

Needle crisis hits strawberry plantings
Far fewer strawberries are to be planted in Perth this year after growers took a $12 million hit on income last season because of the needle sabotage crisis. During the crisis, many consumers were anxious about purchasing strawberries for fear of swallowing a needle and strawberry sales plummeted. The WA Strawberry Growers Association said that this year a lot of growers will be reducing their plantings. Strawberries are an expensive crop to put into the ground and many growers will not have the funds to plant their normal sized crops.  
 [Source: The West Australian January 2019]

(a) i.	Draw a demand/supply diagram to show an equilibrium price and quantity in the strawberry market of $4 per punnet and 4 million punnets per season before the ‘needle sabotage crisis’.  		(2 marks)

                  [image: ]
ii.	Calculate producer revenue for strawberries for the season: 	(1 mark) 
	Producers’ revenue   =   ___________________________________________

See next page
[image: ](b)	Assume that the effect of the needle sabotage caused the equilibrium price and quantity to fall to $2 and 2 million punnets. Explain whether this new equilibrium is a result of a change in demand or a change in supply and provide a reason.  Show the change on the diagram below.	(4 marks)
_____________________________
_____________________________
_____________________________
_____________________________
_____________________________
_____________________________
_____________________________
_____________________________
	
	

(c)	If producers plant fewer strawberries this season, show the effect on the diagram below. Identify which curve will change and explain the effect on the equilibrium price and quantity.
[image: ]	Will producer revenue rise or fall?  Explain your answer. 	(5 marks) 
_____________________________
_____________________________
_____________________________
_____________________________
_____________________________
_____________________________
_____________________________
_____________________________
_____________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
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Question 26	(12 marks)
Apple Gets A 'Wake-Up Call' On Product Pricing
[image: ]High prices for the iPhone could be to blame for at least some of the reduced demand that Apple is seeing. Prices for the iPhone have risen significantly in recent years. The flagship of the 2018 lineup, the iPhone XS, starts at $1,099 – compared to the $769 starting price of the 2016 flagship, the iPhone 7 Plus.
While disclosing a plunge in sales for the iPhone during Apple's recently completed quarter, Apple did not acknowledge the possibility that iPhone prices have simply become too expensive, and that the company may have misjudged price elasticity of demand. The average iPhone price is now nearly 5 times higher than the average non-Apple smartphone globally. 

(a) 	Provide a definition for price elasticity of demand. 	(1 mark)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________

(b) 	If Apple increased the price of the iPhone X from $1000 to $1100 and sales contracted from 9,200 per week to 8,000 per week, calculate the price elasticity of demand? 	(2 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
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(c)	Refer to the following demand schedule:

Price	Qty/week	Total Revenue 
 $800	 10500	 $8.4 million
 $900	 10000	 $9.0 million
$1000	   9200	 __________
$1100	   8000	 __________
$1200	   6500	 $7.8 million

(i)	Calculate the total revenue for the missing values.  	 (1 mark)
(ii)	What price should Apple charge if it wants to maximise total revenue?  _________	 (1 mark)
(iii)	Between $800 and $1000, demand is price  _______________  (elastic/inelastic) and between $1000 and $1200 demand is price _______________  (elastic/inelastic). 	(2 marks)
Explain your answer: _____________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
	(2 marks)

(d)	Define income elasticity of demand. Would the income elasticity of demand for smartphones be negative or positive?  Provide a reason to explain your answer.	(3 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
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Question 27	(12 marks)
Consumer surplus and producer surplus are two important concepts used by economists to measure the effects on economic efficiency of changes in markets. 

(a)	Define consumer surplus and producer surplus   	(2 marks)
consumer surplus: _______________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
producer surplus: ________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________

(b)	Demonstrate and explain what would happen to consumer and producer surplus if the actual market quantity was less than the equilibrium quantity.	(3 marks)

[image: ]______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________
______________________________________________________________________________
______________________________________________________________________________
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(c)	To reduce carbon emissions, the government plans to subsidise the purchase of electric vehicles, by paying a subsidy to the suppliers for each vehicle sold. The diagram below shows the market for electric vehicles. 	

                [image: ]

i.	Show the effect of the $10,000 subsidy by drawing a new curve on the graph – i.e. determine whether the D curve or the S curve will shift – and identify the new equilibrium price and the new equilibrium quantity.  	
	
	New equilibrium price        =     $ ________________
	
	New equilibrium quantity   =     $ ________________
		(3 marks)

ii.	Calculate the cost of the subsidy to the government:  
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
		(1 mark)


See next page
(d)	Explain the effect of the subsidy on consumer and producer surplus.  Will the subsidy increase or decrease market efficiency? Explain why.  	(3 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________



















End of Section Two
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Section Three: Extended answer	40% (40 Marks)

This section contains three (3) questions. Answer two (2) questions. Write your answers in the lined pages provided and number your answers clearly.
Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.
Suggested working time: 80 minutes.
______________________________________________________________________________

Question 28	(20 marks)

The price of lamb in Australia has skyrocketed amid ongoing drought conditions as well as strong export sales to Asia.

(a)	Use a demand/supply model to explain why lamb prices have increased. Use your model to determine whether the quantity produced will increase or decrease.  	(10 marks)

[bookmark: _GoBack](b)	i. 	Explain whether the demand for lamb would be price elastic or price inelastic – use a model to illustrate the difference and refer to the factors affecting price elasticity of demand. 	(5 marks)
	ii. 	Explain whether the supply of lamb would be price elastic or price inelastic – use a model to illustrate the difference and refer to the factors affecting price elasticity of supply.	(5 marks)

______________________________________________________________________________

Question 29	(20 marks)

(a) 	The government wants to help poorer consumers by introducing a price ceiling on essential food items. Use a demand/supply model to analyse and explain the effects of the price ceiling on both equity and market efficiency.	(12 marks)

(b) 	Explain why a government would prefer to tax a good with relatively inelastic demand rather than elastic demand. Use a model to support your answer.	(8 marks) 

______________________________________________________________________________

Question 30	(20 marks)

(a)	By using examples, explain the differences between a negative externality and a positive externality.  	(6 marks)

(b)	Choose either a negative or a positive externality and demonstrate using a demand/supply model, how the externality affects market efficiency. 	(6 marks)

(c)	What are public goods and common resources? Provide an example of each and explain why they cause markets to fail.	(8 marks)

______________________________________________________________________________
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